06/08/20
qQ"wn 2 '91'x 88-133 — 'X Tvin |nan

.100% 221y 100 2yn 1rx 22 .nI7RwN 7 v 1w "1 22 0RO 77wn T2 VIO IAwnn ATy Jnin
'Y IR AT NN CNIVY WIBY Nann (wn

:D'NAN D'70IRN DX wn L1

dx fx5+3x4+5x3+7x2+4x+2
) (x+1)2(x2+1)

1
f1+\/§ dx X

:0'01ONN O'XAN D'71A0V'RN DXN wap 2

oo sin(x)
Jo —dx

.X

J-oo sin(x) dx
x

0 |

1
h = 700 72U NNAY "D TY 0'KAN D'70IRN DR DO .3

fol sin(x) dx X
x

1 2
Jo ¥*e¥dx A2

nexjao o N 4

fx) = i ne~mx’

n=1

.(0,00) 02 now nxpae f(X) DN X

(.0 T 9o NX N97 N1) .f(x) Nk Awn A

wnn N7y nonim £, (x) n'xpaon n 2% 0, (x) 120 nxaet R 751 nodnnn £, (x) nikpaw naTo 'an .5
.Ra
Ra 7y nawonm £(x) :pM9n/indin X

Ra wnn n7iy nonm f(x) :pMon/indin A
NPT
S (x) < f(xy) D ompnn x; < x, € R%Y% o Ra 271y N110RIM DRI Y719

S (x1) < f(x3) D Dmpnn x; < x, € R'7% ok R wnn 071y D110 DX DY19



